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In [1]: import numpy as np
import nashpy as nash
& =np.array([[2.0],[4,2]]) # A4 is the row player
B =np.array([[4.2],[2,0]]) # 8 /s the column player
gamel = nash.Game(4 B)
gamei

Out[1]: BI matrix game with payoff matrices:

Bow player:
[[2 0]
(4 2]]

Column plaver:
[[4 2]
[2 0]]

In [2]: pauilibria = gamel support_enumeration()
for eq in equilibria:
print(eq)

(array([0., 1.1), array([1., 0.1))
(OlO]X|1-1)
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In [3]: & =np.array([[4,0],[0,2]]1) # 4 /s the row player
B =np.array([[2,0]1,[0,4]]1) # 5 /s the column player
gameZ = nash.Game(A,B)
games

Out[3]: Bi matrix game with pavoff matrices:

Fow player:
[[4 0]
[0 2]]

Column plaver:
[[2 0]
[0 4]]

In [4]: Equilibria = game2. support_enumerat ion()
for eq in equilibria:
print (eq)

(array([1., 0.1), arrav([1., 0.10)
(array([0., 1.1), arrav([0., 1.]10)

{array([0 BEBEBEGT, 0.33333333]), array([0.33333333, 0.66B6EBET]))
(001 X[1-2)
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In [5]: # Calculate Uiilities
sigma_r = np.array([ .67, .33])
sigma_c = np.array([.33, 67])
pd = nash.Game(s4, B)
pdlsioma_r, sigma_c]

Out[5]: array([1.3266, 1.3066])
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In [8]: # Create the game with the payoff matrix
pep = np.array([[1000,700], [1200,900]]) # 4 is the row player
coca = np.array([[1000,1200], [700,900]]) # F is the column player
gameb = nash.Game(pep, coca)
dameh

Out[8]: Bi matrix game with payoff matrices:

Row player:
[[1a00  700]
(1200 ao0]]

Column player:
[[1000 1200]
[ 700 900]]

In [9]: # Find the Nash Equiiibrium with Support Enumeration
equilibria = gamed . support_enumerat ion()
for eq in equilibria:
print (eg)

(array([0., 1.1, arrav([0., 1.1))
(0]0]X|3-2)
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In [10]: # Create the game with the payoff matrix

a=np.array([[0.5,0],01.011) #.4 /s the row player
b =np.array([[0.5,1]1,[0,0]1]) # 8 /s the column player
bJ

(O|O[X|4-1)

gameb = nash.Game(a,
gamet
Out[10]: Bi matrix game with payoff matrices:
Row player:
[[0.5 0. ]
(1. 0. 1]
Column plaver:
[[0.51.]
(0. 0. ]]
2t Z80loje] HES USASLICE HIZE L 2@2 HES| EHSLICE
In [11]: equilibria = game6.support_enumerat ion()

for eq in equilibria:

print (eq)
(array([1., 0.1}, array([0., 1.]))
(array([0., 1.1}, array([1., 0.]))
(array([0., 1.]), array([0., 1.]))
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